Figure 1:

1202 — 005:

ThAr

PG3000 GR = 28.250

AR = 62.506 A\ = 3037 — 3832

3000

25001

2000

1500+

1000+

500f

4

Ao

Figure 2:

500

1203 — 1288:

I e ot
1000

ThAr

PG3000 GR = 32.377 AR = 64.749 A\ = 3135 — 3953

2500

3000

3500

200

150F

100}

4

L

\” |

—500

Figure 3:

500

0929 — 106:

1000

ThAr

1500

PG3000 GR = 35.000 AR = 70.007 A\ = 3402 — 4195

2000

2500

3000

3500

5000

40001

3000f

20001

10001

—1000,

I
500

L
1500

.
2000

3500



Figure 4:
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Figure 6:
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Figure 7:
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Figure 9:
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Figure 10:
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Figure 11: 1111 — 106: ThAr PG2300 GR = 37.252 AR = 74.503 A\ = 4722 — 5729
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Figure 13: 1105 — 106: ThAr PG2300 GR =48.500 AR = 97.011 A\ = 6043 — 6894
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Figure 14: 1129 — 025:  ThAr PG2300 GR = 50.002 AR = 100.011 A\ = 6207 — 7029
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Figure 15: 1129 — 025 (zoom): ThAr PG2300
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Figure 16:
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Figure 17:
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Figure 19:

0101 — 088 (zoom): ThAr PG1800 GR = 35.377 AR = 70.756 A\ = 5726 — 7041
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Figure 20:
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0128 — 031: ThAr PGI1800 GR =48.130 AR =96.274 A\ = 7670 — 8763

3500

45000

40000+

350001

30000

250001

20000

150001

10000+

5000

1

%

Figure 21:

1000 2000 3000 4000 5000 6000

0824 — 023: ThAr PG1300 GR = 23.000 AR =45.997 A\ = 4951 — 6995
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Figure 22: 0824 — 023 (zoom): ThAr PGI1300 GR = 23.000 AR = 45.997 A\ = 4951 — 6995
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Figure 23: 1231 — 035: ThAr PG1300 GR = 26.378 AR = 52.754 A\ = 5797 — 7785
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Figure 24: 1231 — 035 (zoom): ThAr PG1300 GR = 26.378 AR = 52.7564 A\ = 5797 — 7785
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Figure 25:
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Figure 26:

500

0101 — 012 (zoom):

1000

ThAr

1500

2000

2500

3000

PG1300 GR = 35.377 AR = 70.756 A\ = 7938 — 9762

3500

14000r

12000

10000

8000

6000

4000

2000

.,

N

By

-

Figure 27:
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Figure 28: 1123 — 136:  ThAr PGO0900 GR =16.625 AR = 33.252 A\ = 4760 — 7819
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Figure 29: 1123 — 136 (zoom): ThAr PG0900 GR = 16.625 AR = 33.252 A\ = 4760 — 7819
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Figure 30: 0228 — 152: ThAr PGO0900 GR = 19.250 AR = 38.514 A\ = 5749 — 8764
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Figure 31: 0228 — 152 (zoom): ThAr PG0900 GR = 19.250 AR = 38.514 A\ = 5749 — 8764
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Figure 32: 1123 — 134:  ThAr PGO0900 GR = 21.497 AR =42.998 A\ = 6579 — 9548

25000

2
1
067.27
4
84982
2
2

20000
150001

10000+

T

0 500 1000 1500 2000 2500 3000 3500

Figure 33: 1123 — 134 (zoom): ThAr PG0900 GR = 21.497 AR = 42.998 A\ = 6579 — 9548
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